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MARI T — 7 NVIER 1 knY 7= 0 g% R (5L R) 30, 179
MAZHRr — T VIER 1 kmY 72 0 gk fr 28 (L& IR) 29,114
AR r —7 VIER 1 km 72 0 fg s R a2 (Lo &) 29, 469
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FHERE 7y — 7 OVEER 1 kY 7= 0 Jif g% R a2 (B IR 200, 071
kR — 7 OVIER 1T kmY 72 0 fE ek IR 2 (LEF) 203, 139

_21_
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WIEL S — 7 VIR 1 knY 72 0 fEgk g (RIRE) 373, 142 M/ km
WENX 7 — 7 NVIER 1 knY 72 0 gk k2% (P ARE) 368, 865 M/ km
MRS 7 — 7 VIR 1 km 7o 0 sk ik 2% (SR 363, 162 M/ km
MENX 7 — 7 VIR 1 km 72 0 gk R 2% (FER) 390, 251 M/ km
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MEYr — 7 VIER 1kn Y 72 0 figk k2% (THER) 405, 934 M/ km
WIS r— 7 VIER 1 km4 72 0 i gk R 2B (R AHL) 421, 617 M/ km
MR — 7 VIER 1 km4 72 0 fE gk R e ()1 IR) 408, 785 M,/ km
WK — 7 VIR 1 knY 72 0 fEak k22 Gk ) 343, 202 M/ km
WIEL S — 7 VIR 1 knY 720 fEsk ket (8 1E) 357, 459 M/ km
WIEL S — 7 NI E 1 knY 72 0 fEsk g CA)IER) 358, 885 M/ km
WIE 7y — 7 VIR 1 knY 72 0 fEgk k=8 () 354, 608 M/ km
MEYCr — 7 VIER 1Tk 72 0 gk k&% (ILELIR) 400, 231 M/ km
MEY 7 — 7 VIR 1kn 720 figk k2% (REFER) 370, 291 M/ km
WIEN r — 7 Ve R 1k 72 0 Ja gk R 2% (i B IR) 364, 588 M/ km
MRS r— T OVIE R 1 km4 72 0 i gk R (FF I U 385, 974 M,/ km
WIEX 7 — 7 VIR 1 knY 72 0 ket (Zmi) 373, 142 M/ km
WY — 7 VIER 1 km24 72 0 fa skt 2% (ZHIE) 371,716 M/ km
WIEL 7 — 7 NVIEE 1 knY 72 0 fEsk g (WER) 360, 311 M/ km
WIEL S — 7 NI R 1 knY 72 0 fEsk kg (GUEIE) 366, 014 M/ km
MRSt r — 7 VIER 1 km4 72 V) sk R A (KB 381, 697 M/ km
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MEr — 7 VIER 1k 72 0 gk fk &% (fn ) 361, 736 M/ km
MK r — 7 VIER 1 kn4 72 0 gk R 28 (GRRR) 371,716 M/ km
WEIRG 7 — 7 VIER 1 kS 7o 0 figk (R 2% (Fnk il ) 366, 014 M/ km
WEX 7 — 7 NVIER 1 kn 720 gk ik 2% (BEE) 334, 648 M/ km
WIEX 7 — 7 VI E 1 knY 720 sk (HRE) 333, 222 M/ km
WEN 7 — 7 Ve R 1 km 72 0 fa gk R % (B L) 348,905 M/ km
WIEN S — 7 Ve R 1 km 72 0 fa sk k22 (L5 ) 336,073 M/ km
MIESC T — 7 VIER 1 km 72 0 fasg 2% (B R) 340, 350 M/ km
MEYr — 7 VIR 1Tk 72 0 fi gk k2% (THE ) 351, 756 M/ km
WIS r — 7 VIER 1 kn4 72 0 fa gk R & (F)IR) 344, 628 M/ km
WIS r— T VIER 1 km4 72 V) fa gk R 2B (Z R 344, 628 M,/ km
WIEX 7 — 7 VIR 1 knY 720 fask et (&) 344,628 M/ km
WEN 7 — 7 NVIER 1 kX 72 0 fa gk (k% (4 [ ) 346, 053 M/ km
WIEr — 7 Ve R 1 km 72 0 fa sk (k22 (B ) 341,776 M/ km
WIE 7 — 7 NVIEE 1 knY 72 0 fEik k2t (RRFR) 328, 945 M/ km
MEr — 7 AVIER 1Tk 72 0 gk k2% (AEARIR) 327,519 M/ km
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WE r — 7 VIERE 1 knY 720

(R 45 I)

y
/

321,816

M/ km

MWEN T — 7 VIR 1 knY 720

i

(B iy %)

316,113

M/ km

WEN T — T NVIERE 1 knY 720

it

CRE IR I IRY)

321,816

M km

WENYA 7y — T VIEE 1 knY4 7= b

sl B I

(e IR )

20 | A
)

299, 004

M km

B R kmY 72 V) e %

63, 260

M km

THREREKERkmY 20

63, 260

M km

& EERKNY 72 i

63, 260

I/ km

HFEEE EknY 7= 0 fie ik

63, 260

M/ km

Hin 8 I K km 72 D

63, 260

M/ km

AR L R e R knXf 72 0

63, 260

M/ km

7B 77 X i b DR 4 B ok i FE

0.04727

0.04727

AT il TR o BB R K e i PR kT
€D

0.01953

BRI (REEER) fa

0. 1545

Bt il O A A2 kk)

-0.04917 = & |k

Bl e fi O AFE A2 H) Jie

0.04284
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Bl ekl (rPfk A A ) i 5k OR 4 b % & 48 b o3 0.04687 —
B LR i (AR BR K ) i S Bt B A R km > 72 0 i 3% PR 42 % 7,593 M/ km
B ek fi (AN BRI ) AR IR IE R kmY 72 U Jii 5% PR 2 2 1,520 M km
BB ER M (fm o5 AR B AR )l 5% 1% 2 B of e A b =R 0.02474 —
M 18 A W i x Or 4 F ook B A L R 0.01953 —
14 G5 1) Bt 3% PR A 2 s 5 B R L R 0 -
PR B OY 3 18 M % R 4 2 s 4% T A B R 0 -
B fi 5 PR 4 B kT 4 B b R 0. 03565 —
TR & B K UM &b i 5% PR 2 2 ok ¢ & B b =R 0.002355 -
R EEEE (Y 7 by o T) M5k IR A R AR 0 —
BIYEEEE (Z O o B EEEE) sk k28 k& 0 —
EAE 1 AR Y720 E S Ak 376 N
BT kmXY4 7= 0 IE B SR 42, 848 M/ km
O R B 1 kmY 72 0 JE B R 428, 365 M/ km
& DaE 1 kmY 7= VBB S R 865, 339 1/ km
BWA v 7 2 1 km4 72 0 8B 5 e 4,554 M/ km
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IR RE I 1 kn24 72 0 B B 5 R 4, 554 1/ km
AR AL R 1 kY 72 0 JE B R 4,554 M/ km

SMAERNAEE 14720 EK S HE 63 ==
P R i R (B bl R 0.5 —
G — 7 v B i 2 i R [ AR AR Bl =R 0.5 —
FR Bk R D 0 2= B oef ¢ A b R 0.001923 —
7 A% R S 25 e FH e OB R R 0.005508 —
T PR S A 25 B P ek P L R 0.002135 -
bR 2 B T eh RO E b R 0.0007496 —
A TR 58 W) S8 R R R B e R R LR 0.001923 -
W R B el R L R 0.001253 —
W R B B R R 0.001872 —
PRI S O S & 25 B T okt 4% A b R 0.0006769 —
R T A 25 kT B AR b =R 0 -
T H o & B K OV o 8 2= 8 6 ¢ B b =R 0.001233 —
Ak R AT 78 B ok EL B2 B bL R 0. 03807 —
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1 [E1 8 2 72 0 2ot B s = 5 2 0 ./ I=l#¢
1 [E1 R 2 72 © =R 2 ot B e o 5 2 O M./Ial#k
1 [E]#R 2 7o 0 B [a] BR8P O = & 3,421 M [\l
B Pk m e R 0.1533 —
P R R AR 4K 206 —
B Y52 M Y 45 8] #¢ 4K 672 B
Ui AR SR A #4 8] 5 bbbl =R 0.1837 —
SR A2 R [E] K B ) Bl SR 0.3229 -
% B Y 1 JH AR 2K
A2 Ha Tk 27. 2 1
Jry BX I 15t B N 4 2 i 23.9 4
Jr) X 1 i ) i TR I A 2 13.5 A
mE I & 20.5 4
XM i R U A A 13.5 i
MR A 26 0 9 I
i AE i 2 R i 9 i
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BRIE X B )V lr— T v 28. 4 4
HFERAE VT — T 37.7 H
bg EZRZE N r — 7 v 15. 1 4
b BT — T L 21.2 e
W r — 7 v 26.5 4
CRES 21.2 4
B 60. 1 4
R AR 60. 1 I
& DE 75 i
I [A] 1 75 4
7B Mk 2L R 3k 60. 1 4
MR T T 24. 3 i
I R B B 24. 3 i
22 3 5% A 9 4F.
BRI (BIHEE) 6 4F.
B (JEELEE) 15 E
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Eak il (ZEEE) 9 e
A i B3 ) 5 K 15 £
R 24. 1 4
B Rk (A B L) 9 GE
BE X fm O A3 22 ) 10. 6 &
B AR O (o ok 22 #A B ) 10. 5 &
B UL RO (I 2% 2 R ) 10. 8 &
Bl ax i (Tl o R %) 14. 1 2
B LRk A (T AR %) 17.4 e
M0 2 23. 1 H
L) 15. 8 4
B N NI 10. 7 4
H ] 5 GE
T H . & B KO bh 5.5 &
W EEEE (LMY 7 v =7) 14. 7 &
W EEEE (Z oMo 8&IEEEEE) 5.2 F

_31_



Ao

<

Lo

T =
(HLRm)
Ve BRI+ IHER | @R 0E 0
SEEENgBSIE -~ Nafi N o
($rECR)
$RKEHE WL SELCmENR I W’

J

BRm] VL0 ) NELE OHEN{EL0” HiR

7 7 et
L7 KE RO

QWM 4 OHEHKIOMETRER (XK Ik
3¢

BRERLCER | HOREUA

EmHRHEHLY ORKE L’

RSN N agO W PR

S H0e°
R BELPKEIEYREASCEKEIHKZE O CELCCERMYBT VWKLY S

NO 8 UK I 1T SRR N KR K S TRAR M 03

) HOLV REECREUELWE LR’

%w@kﬁmm ,_BuI\@.mml:: mﬂ%nﬁ@ﬁu.ﬁEC@ADL
= IE#M.Eu____n ____nj.w_m?v@: T\m\cé
(e o)

ERRNECHEM/URPORFODROUWELELC DR VI OROCU LT OHERRE

BER (Ex®RHENY

MR LW THRERR] VI

MOWECELSIENRLLMVLAERKEKITES

PLORECE QLS ELSIENR LYV

ﬂ:_/l

_32_



ROBREMELOWVY L 028 UL 4"

_33_



